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fRE1 AOREOEEMDEE
I<x=y<zD L%,
2xy+ yz+22)=9(x+y+ 2) B/ TERE (1, v, 2) DEETNTRD L,

2Axy+ yz+20)=9(x+y+2) 5, 2(2y—9)+y2z2—9)+22x—9)=0 O
125 DX z2=29>5 L0505, ODELNELRY, THETHD,
£oTC, z=1, 2, 3, 4
1] x=1mn&x
O»5, 2yz—Ty—T72—9=0
MR 2 28N T, 4yz—14y—142—18=0
EWT5E, 2y—T)22—7)=67 (FEH
22 —T22y—T722-1-T=—5 ThEM5, 29—7, 22—7)=(1, 67)
£oT, (3, 2)=(4, 37)
2] x=2DrXx
O M»5, 2yz—5y—52—18=0
MOz 2 #ENTT, 4y2—10y—102—36=0
BRI 5L, (29—5)22—5)=61 (FE)
22 —5>2y—5>2-2—5=—1TH2N"5, (2y—5, 22—5)=(1, 61)
£oT, (5 2)=(3, 33)
3] x=3 D&Xx
O M"5, 2yz2—3y—32—27=0
Az 2 #ENI T, 4yz—6y—62—54=0
EWT5L, (29—3)2z—3)=63
22— 322y-322-3-3=1 ThHaN5, (2y—3, 22—3=(1, 63), (3 21), (7, 9)
y=x &Y, (3, 21), (7,9
£oT, (3 2)=(3, 12), (5, 6)
4] x=4 DX
O»5, 2yz—y—2—36=0
MRz 2 2ENT T, 4yz—2y—22—T72=0
ERT5E, 2y—1)22—1)=73 (FEX)
22—122y—122-4—1=7 THDN56, (2y—5, 2z2—5)=(1, 73) F#E
PAEMS, kDZERE x, y, 2z DI,
(%, » 2)=(1, 4, 37), (2, 3, 33) (3, 3, 12), (3, 5, 6) &



R 2 FUEAZOBEROEE (GT1ERRE)
m3+nd—9mn=p—27 &/~ TIEDEE m, n LEH p D (m, n, p) 2TXTRD &,

p=m3+n—9mn +27 =m3+n3+3%—3mn -3 = (m+n+3)(m?+n2+9—mn —3n—3m)
n (XEDOBHTH LM, m=1, n=1 &Y, m+n+3=5
pIIEBTHEMS, mi+ni+9—mn—3n—3m=1
mIZDOWCEETL L, mi—(n+3m+n2-3n+8=0 -
m AZDWTD 2 RABROYFIRE D L B5<k, D=(n+3)—4(n?—3n+8) = —(3n2—18n+23) =0 &V,

—9_§ﬁ é"é—%gﬁ 3<2/3 <A THENE, INEH-TERL, n=2 3, 4

n+3++ —3n%+18n—23

O&Y, m= 5

THdMN5,

1] n=20¢X%, m=2 3

m+n+3 MRBUZIRDDIE, (m, n)=(2, 2) DLXT, ZDOrX, p=7
2] n=3mDtX, m=2 4

(m, n)=(2, 3), (4, DX, m+n+3 IFRBITLRSN,

B8] n=4DtX, m=3 4

m+n+3 NEBURDDIE, (m, n)=(4, 4) DLXT, ZDr%, p=11
EoT, (m,n, p)=(2 2 7), (4 4, 11)

MIRES (14+2)1+y)(x+y)=300, 2+ y3=99 DX, x+yDEZRDL,

BE (1+x)(1+y)(x+»)=300 O, 2+y°=99 --Qr&L,

O&Y, I+x+y+ayfx+y)=300 (x+)+(x+r)°+xyx+9)=300 O
@&V, (x+yP—3x)x+y)=99 QY

DX 3+@ &Y, (x+3)°+3(x+ y)?+3x+ y)=999

izl 2Mmz%e, (x+y+1)7°=10°

1+y+1=10, 100, 1002 (w:_liTﬁ’)

SLx+y=9, —6+5/3i &
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A, B, CIZ1IEDOEXIN1 DE=ZAFDIEST,
i BC 132 1 OMIITH 5.

JIBC, CA, AB THENAZBFEDOHFIZEWT
BEWNIETIHM 2@ ZM 12 WEXE5,
HHE, ZHO¥EEZznThkD X,

FRIDEM%E O, (r), ZH%EO,(ry) LBX, RDLSIZFEEMIT 5, A
Z0,AD= LO,AF= 15° TH 3,
AAOD 122W\T, AO,=1—7,, O.D=r, &V, sinl5® = 1717
- "N
VE—=2
sin15°  _ 4 VA |

ST T sl 16 —V2 2y 3 -1
1

_ (WB-Dev2 -3 41) _ —4-2J2+2/3 +2/6
8—(4—23) 22++/3)
=(-2-V2 +/3J6)2—-3)
= —7-5/2+4/3 +3/6 (=0.205605)
AAOF IZ9WT, LO,AF=30°, O,F=r, Thoh5, AF= /37,

7%, FE=/(ry+ 1)t —(r,—7)? =2/7,7, THb,

" _
o —_ 1 —=92_./3 Fi —2(2—./3)./ —J/32—=/3)r,=0
tan 15 NIEENCT LY, =2 N 7175 ( )7,

MLE 7, THB L, L —22-5), [L /3 (2-3)=0
2

/% =2-V3)EV2-V3P+/32-3) =2-V3)£(/3-D =1, 3-2/3

/% S0, L[k =1 sn=r, (FF, ZEOEEZSELL.)
2 2

&oT, PHZHDEEE, B: —7-5/2+4/3 436, z: —7T-5/2+4/3+3/6 @&
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A, B, CIZ1IDEXHN1 DE=AFOIEST, A
81 BC 1344 1 OFLCH 2. A
i BC, CA, AB CHEN/-KFDFIZE NI
T 2EM 2L 2 1 I E X5, ‘ ‘
FH, ZHO¥EREZNThkD L, °Y°
B

ERORMAE Oy (r,), ZF%0,(r) LB%, HOL> IS LTS, A
ZO,AE= Z0,AF= 15" TH 3, yi
AOlDE C:OLVC, OlD: 1+1’1 N OlE: 1’1 c]: U, 0,
DE=/(1+ ) =7 = /T=2r, THZH5, AE= /3 —/T-27, P Y

, Q

IOV, o —_ 1L —9_/3 ;

AAOEIZDWT, tanl5 NN J3 ) .

n=2- V3T ~yI=27)

BETZL, 2-V3)/1-2r, =/3(2-3)-7,

M0% 28T 2L, (2—/3)(1—2r)=312—+/3)2=2/3(2—+/3)r,+7*

72 —4(2—/3)r+22—+/3)?=0

n=22-3)£v2(2-3) =2-/3)2£V2)

EEIGET A0, 7, =2-V3)2-2) =422 -2/3+./6 (=0.156961)
RIZ,

AAO,GIZOWT, ZL0,AG=30°, 0,G=r7, THdm5, AG=+/37,

&7z, FG=/(r,+ 1)’ =(r,—7)" =2,/r7, Th%,

4! —
°C=___ - @ =2—./3 X —2(2—./3)./ J3(2—-./3 =0
tan 15 ﬁyz 2 7172 cl: )7 71 ( ) 7172 ( )72

Tk 7, TEI &, %—2(2—ﬁ) % — /32— 3)=0
2

[ = =)= VI +/AE—V3) =@—Dt(WT-1 =1, 3-23

[Dsoxy, [
) 7y
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